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1. T TR Anarsiadie ‘gavis=n TEUM Humen ASEd I ?

(1) Il wTEE 2) A amEd

(3) st eud (4) wras &

At present who is known as the ‘Golden Girl’ of Maharashtra in the field of shooting ?
(1) Anjali Bhagwat (2) Tejaswini Sawant

(3) Bhagyashree Thipase (4) Bhagyashree Bile

2. oA e e afdi= e v 2

(1) s (2) HETH

@) @ (4) TFRISH
Which Committee is appointed for Telangan issue ?
(1) Shri Krushna (2) Mahajan

(3) Reddy (4) Nagrajan

3. HiegeR 2010 A ey oTeiean, fograsie &R Tew=Te 1 9.

(1) et pom =t 2) e AR

(3) TATIETE ATed (4) RS gEaE

Name the New Chief Minister of Bihar, who is elected in Nov. 2010.
(1) Sushil Kumar Modi (2) Nitish Kumar

(3) Lalu Prasad Yadav (4) Ramvilas Pasvan

4. 47 = TR TS WY e JahR Higeamed v fmuerh Sapss mie fomde w=vp fae
el ?
1) =™
@) fafe
(3) i Rt wea Siede
(4) shwEsTER el
Which cinema is selected as a best Marathi cinema during 47th Maharashtra State
Marathi film festival ?
(1) Swas
(2) Wihir
(3) Mi Shivajiraje Bhosale Boltoya
(4) Harischandrachi Factory

HoAT HIHETE AR/ SPACE FOR ROUGH WORK
P.T.O.
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5. \RA dge TH1 TS YT e TRV TThU=IT ShivTedT G |-l faeft 3TR 2

(1) dqX&h A (2) &
3) Hrea (4) TaTEEA
Which defence force has approved Sachin Tendulkar as a Honorary Group Captain ?
(1) Coast Guard (2) Army
(3) Navy (4) Air Force
6. el AT gt 2010 Wefie | ALl IR TS,
L) = @) W
(3) g (4) HABIOTETH
The 2010, Summit of NATO meeting was held in
(1) Spain (2) Russia
(3) Portugal (4) Afghanistan
7. § 2010 ® Y G T Geeehagd T4 TRV HING H0ATT TS IR,
(1) ST Taran
(2) AT &
(3) Aau™ S fafawa
(4) TEvdETERIH
The year 2010 is declared as the year of by UNO.

(1) World literacy
(2) Protection of environment
(3) International Bio-diversity

(4) Antiterrorism

8. T AeafTe T I el hTd STHT 1A Y IV I MR ?

1) 0 (2) P

(3) &R (4) AERd

By social networking the thousands of youth organized at Tarrir Square is placed
in which city ?

(1) Cairo (2) Tripoli

(3) Bagdad (4) Muscat

HEAT HATETE! ARTT/SPACE FOR ROUGH WORK
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9. SAfET Fot T U TG 7 5y I TEida e,
(1) TR =—IETEEt deT QU IR ™
(2) AT WA FOATAIS] TeT SR SN
(3) TAHTE FGT U T
(4) AT QTSR =RTETET det U fardiwr

Jyotiba Phule dedicated his book ‘Gulamgiri’ to those

(1) Indians, who had fought for social justice
(2) Americans, who had fought to free slaves
(3) Frenchmen, who had fought for revolution

(4) British, who had fought for Indian social justice

10. 3frenfies SRS YR WHRA 1940 TTed T Tx T FeAl,
(1) T 3ReEge A% wemen fad
(2) HfTe B grEffhs ofve sefead fad
(3) W 3N frd d
(4) 3o Reee it Tarst

For industrial research, in 1940, the Government of India established

(1) Tata Institute of Fundamental Research

(2) Council for Scientific and Industrial Research
(3) Bhabha Atomic Research Centre

(4) Indian Institute of Technology

11. T I ol § e €.
(1) FETIHRR (2) S
(3) T ferem (4) el
Raja Ravi Varma was a famous
(1) Novelist (2) Magician
(3) Oil painter (4) Poet

HTedT HIHTETS! TRTT/SPACE FOR ROUGH WORK
P.T.O.
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12. UfRTRe gReal 1761-1999 AT FidTd TRaAT=AT e fies foshmare Sleezqut

FTaES qRaddl Adid.

(1) wra (2) =1
(3) =R (4) 9=
Historically, during 1761-1999, Industrial Development of India can grossly be
divided into periods.
(1) Seven (2) Six
(3) Four (4) Five
13. 3.4. 1854 HEA WRAT 64 YA A gl srfedea e,
(1) HEHITETE (2) AT
(3 T @) T
In 1854, the first cotton mill in India was set up in
(1) Ahamedabad (2) Nagpur
(3) Mumbai (4) Surat
14. ST QTSR IEATH Aerehl, PR o1y srawenAd ee i g FEUTATA.
(1) &g & 2) T &
(3) HEE & (4) HEH &

The sector which owned, controlled and managed by the states, is known as

(1) Joint sector (2) Private sector
(3) Public sector (4) Co-operative sector
15. 3. 9. AL TRAM 1T IaTieom= ‘T3 2reffarsere gl wiera.
(1) 1991 (2) 1951
(3) 1978 (4) 1981
In , India adopted a ‘New Economic Policy’ under which the

economy was liberalized.
(1) 1991 (2) 1951
(3) 1978 (4) 1981

HeedT hIHTETS! ARTT/SPACE FOR ROUGH WORK



A , 7 BMW

16. 1956 3 i G 1 e Rierefiet suras 2.
(1) <. =Y, Fuwe (2) T . 9w
(3) €. .+ (4) N gl
Industrial Policy of 1956 was based on the recommendations of the
Committee.
(1) J.C.Kumarappa (2) Ram K. Vepa
(3) D.C.Karve (4) Ashok Mehata

17. EAATR IRd GEHRA ARNRE €T Fiiemal 1 It W=y el
(1) 1949 (2) 1948
(3) 1950 (4) 1952

After independence, the Government of India passed the First Industrial Policy
resolution in

(1) 1949 (2) 1948
(3) 1950 4) 1952
18. UG Tafreet dofi 3 = IS ATk
(1) feufast =t (2) TSt St
(3) AT (4) FH T
The water stored in dam is an example of
(1) Potential energy (2) Kinetic energy
(3) Atomic energy (4) None of the above

19. FroneaT stupreR tew wHume e Biee @ AR Avd TR e 18
(1) STUEEIHHIF 4 = 3T ST03TH 2 7 Al Tl
(2) SAEEIHHIE 2 7 A 3TH 4 3 Y TN
(3) STUEEIHFTRR 4 = MM 3T 2 3 A
(4) STERHHIF T VHAE e T Tedrd

When an atom emits ¢ -radiation and gets converted into another atom its

(1) Mass number decreases by 4 and atomic number decreases by 2
(2) Mass number decreases by 2 and atomic number decreases by 4
(3) Mass number increases by 4 and atomic number increases by 2

(4) Both mass number and atomic number remains same

HTT RIATETS! ARTT/SPACE FOR ROUGH WORK
P.T.O.
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20. OO gL TYAT I 37,
(1) 1094 2) 20%.H.
(3) 2541, @) 30w
The least distance of distinct vision is
(1) 10cm (2) 20cm
(3) 25cm (4) 30cm

21. <EET GeaIa Ush IRYTOT R ECL ARSI GG
(1) 24 (2) 27.3
(3) 30 (4) 365
The moon takes days to complete one revolution around the
earth.
(1) 24 (2) 27.3
@) 30 (4) 365

22. T R AT TR sfarara.
(1) Pt whe @ T
@) fo=m (4) HIR TeH
Plaster of Paris is prepared from
(1) Dead burnt plaster (2) Alum
(3) Gypsum (4) Copper Sulphate

23. TR Ul TH-Hie Adier W)= g 3ahT 3T,
1 M @2 N
(3 A 4 X
One gram-mole of a substance contains number of molecules.
() M (2) N
3 A @ X

HeedT HIATATS! ARTT/SPACE FOR ROUGH WORK
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24, WAy TE fasH Ho 1R 2
(1) TEEEE S oAt 9o |
(2) JeFreAT fieeam™ (tadpole) SShId TR BId SFHAHT AT NI ToH ATHET FR
HeT S
(3) wrEE™ & 9yl ‘Aer fe:Tor Gen’ ame
(4) TEEEM B IR TR FERESEE 9 WE AT AlfFavas Hawd
Which one of the following is not true ?
(1) Lysosomes are present only in animal cells
(2) When tadpole transforms into frog, the tail is digested by Lysosomes
(3) Lysosome is the cell’'s waste disposal system

(4) Lysosomes oxidise carbohydrates and fats, present in the cells

25. d gy ferereon sfiaae TR,
(1) A,B3aK (2) AaC
3) A,BaD 4 BacC
are water soluble vitamins.
(1) A,Band K (2) Aand C
3) A,Band D (4) Band C
26. AYUE foFRme 1 AT el Sal.
(1) FeTH 2) gl
(3) ugmRIfeR (4) WA
In diabetic condition is used.
(1) Interferon (2) Insulin
(3) Erythropoietin (4) Somatostatin
27. vRAMeA 1 1 S & RRavI Ao U el ST 3T
(1) 1834 (2) 1835
(3) 1850 (4) 1857
Inthe year English was made the medium of instruction in India.
(1) 1834 (2) 1835
(3) 1850 (4) 1857

HoedT hIHTETS! ATT/SPACE FOR ROUGH WORK
P.T.O.
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28. IRAME {cadl T el desd AT g SHRe B 8.
(1) «ie fam (2) dic sodl
(3) S g (4) wE Hm

was the Governor General of India when railways were

introduced in India.

(1) Lord Rippon (2) Lord Dalhousie
(3) Lord Curzon (4) Lord Canning
29. 1857 = WA €W ¥ U RIRIRSIESIH
(1) HidfTe J8e (2) wETen et
(3) fa. a1 " (4) forfta Wi
‘The War of Indian Independence 1857 the book was written by
(1) Motilal Nehru (2) Mahatma Gandhi
3) V.D.Savarkar (4) Vinoba Bhave

30. TFE-3M T AR I A1 hegl GE e ?
(1) 1855 (2) 1853
(3) 1857 (4) 1856
When did the First Mumbai-Thane Railway line started ?
(1) 1855 (2) 1853
(3) 1857 (4) 1856

31. WUSH, Wefl, afEshr 3 T freror an g guehd wivr g 2
(1) weTemt eh (2) M. F. TEa
(3) e Pz (4) gIEE S
Who was the proponent of the Four-point formula (Chatuhsutri) : Self Government

(Swaraj), Use of Domestic Products (Swadeshi), Boycott (Bahiskar) and National
Education (Rashtriya Shikshan) ?

(1) Mahatma Gandhi (2) G.K.Gokhale
(3) Lokmanya Tilak (4) Subhashchandra Bose

HEedT hIATATE! JIFTT/SPACE FOR ROUGH WORK
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32.. ‘o &1 uy woft frfeer ?

(1) =t TAe (2) WIS <A AT

(3) WETHT SAfa $& (4) T &Y. +d

Who wrote the book ‘Gulamgiri’ ?

(1) Justice Ranade (2) Bhau Daji Lad

(3) Mahatma dJyotiba Phule (4) R.D.Karve

33. ? 1857 <A1 IIETAT I8 AT g1 T .
(1) ©E ST 2) @I HHaTE
(3) ofmE g 4) @ &HFm
was the Governor General of India when 1857 revolt broke out.
(1) Lord Dalhousie (2) Lord Cornwallis
(3) Thomas Munro (4) Lord Canning
34. W@ YA IJEIhT 1875 =1 TG I3 & PRI
(1) 0 enfor wed
(2) Hard smfor g
(3) IO I STEHETH

(4) ITEAGTR T &g

Deccan riots of 1875 were major agrarian revolt in

(1) Poona and Sangli

(2) Mumbai and Poona

(3) Poona and Ahmednagar
(49) Ahmednagar and Mumbai

35. 2001 =T SFRVHIER SRATT Taid ! einaeat T TR,
(1) fafern ©2) &
(3) WERTS (4) Tee
As per the 2001 census state of India has the lowest population.
(1) Sikkim (2) Kerala
(3) Maharashtra (4) Meghalaya

FHoT HIATATE ATT/SPACE FOR ROUGH WORK
P.T.O.
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36. TS T IS IR 107 SHHY FoaTanSy Y 7 s famfta et omR.
(1) sfeen (2) =@E-3an
(3) AT (4) HisaT
The new portis developed at for reducing burden of goods transportation

in Mumbai port.

(1) Haldia (2) Nava-Sheva
(3) Marmagao (4) Kandla

37. A 9 © e Afired oTR.
(1) fmeeria (2) Y& GeRid
(3) R WeER@ 4) TR
Multilayered growth is the characteristic of vegetation.
(1) Semi-evergreen (2) Dry-evergreen
(3) Wet-evergreen (4) Deciduous

38. 1 st Sy gad vsw iR .
(1) 1 fedsw 1957 (2) 1 X 1956
(3) 26 SHERT 1958 (4) 15 IR 1947

Bilingual province of Mumbai came into existence on

(1) 1Dec. 1957 (2) 1 Nov. 1956
(3) 26 Jan. 1958 (4) 15 Aug. 1947

89. <o YRATHA VT 7= WA SITEETe gdid Aid AR ?

(1) F=u (2) @

(3) e (4) wE

Which river basin is the largest water resource of Southern India ?
(1) Krishna (2) Periyar

(3) Godavari (4) Kaveri

HET HHTATST AFTT/SPACE FOR ROUGH WORK



A ‘ 13 BMW
40: HERSET st TorUa 3 wewRE A1 TSI HiNat AR,
(1) e @ 92
(3) VST (4) g
district of Maharashtra is located on the boarder of Gujarat and
Madhyapradesh.
(1) Nashik (2) Dhule
(3) Jalgaon (4) Buldhana
41. g IR walq S e 39 T
(1) 43 7@ @) T
3) femg (4) el
Natural gas is produced at on a large scale.
(1) Mumbai High (2) Nazira
(3) Digboi (4) Koyali
42. TERTE USATd HAGE TSi-amd TRUTATA.
1) I (2) ®hl FER |l
(3) i (@) e
The pre monsoon showers in Maharashtra are called
(1) Mango Showers (2) Coffee Blossoms
(3) Kalbaisakhi (4) Aandhi
43. YEIAUh! HIVTAT AR TeAsIa ARG Hied ATl ?

(1) S99 WA

(2) WU T

(3) wTeTHAET AARER

(4) a1 yEdrEr g9 S RRvaTET 896

Which one of the following is not the fundamental right ?
(1) Freedom of speech

(2) Right to equality

(3) Right to property

(4) Right to follow the religion of one’s choice

HoedT HIHTETE ANT/SPACE FOR ROUGH WORK

P.T.O.
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44, TS IT9 AW T NS FI3-HIS TR ?
(1) STETE AT ATRYR
(2) SNTTETE AT qUTH
(3) Hor% AT worshl
(4) Harg Torsht e
Where are Mumbai High Courts benches ?
(1) Aurangabad Nagpur Nasik
(2) Aurangabad Nagpur Panjim
(3) Mumbai Nagpur Panjim
(4) Mumbai Panjim Nasik

45, ST Toere fasmT 3 Aeie wem T T SRR g el R,
(1) 36d51 (2) 291 30
(3 19 (4) 32735

The provision to ‘right to freedom’ is situated in the part 3 and article

of the Indian constitution.
(1) 36to 51 (2) 29to 30
3) 19 (4) 32to 35

46. TR fadewT= ST TR AT
(1) ==
2) wwdm afa
(3) RGN AW
(4) TSIGHT AR
The draft of Government Bill is prepared by
(1) A Minister

(2) The Parliamentary Secretary
(3) The Speaker of the Lok Sabha
(4) The Speaker of the Rajya Sabha

HET HRTATA! ART/SPACE FOR ROUGH WORK
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47, TERTRIE FRaiwerE ot amfa fawmof Feft g 2

(1) 4 2) 3
(3 2 @ 1
Municipal Council in Maharashtra is divided in categories.
1) 4 2) 3
(3) 2 “4) 1
48. qTell TR T TR - TTRcT HRIET A hel.
(1) 1949 (2) 1976
(3) 1955 (4) 1952
The Parliament of India passed “The Citizenship Act of India’ in the year
(1) 1949 (2) 1976
(3) 1955 (4) 1952

49. TEIAYRI HIVIAT HT TRIEEHR AR ?

(1) I Josh (2) AR

(3) WEWSH H (4) S wEHw
Which of the following is a State Government Tax ?
(1) Custom duty (2) Income tax

(3) Corporation tax (4) Land Revenue

50. TR g v
(1) 3 faggs JavaEE giea
(2) 3 gas gAA gEd
(3) & fatrs TETEEiE geEm T
(4) F 3 fa9Ts g AvEEE AR
Private bill means
(1) Which was placed by Prime Minister
(2) Which was placed by Minister
(3) Which was placed by member of Parliament other than Minister
(4) Which bill for common people

HEAT HIHTETS! WTR/SPACE FOR ROUGH WORK
P.T.O.
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51. U guietommelier ‘A’ enifor ‘B’ <t fFma e

8 _51_81
A B 63
(1) A=28 B=42 (2) A=22 B=46
3) A=42 B =28 4 A=32 B=44
Find the values of ‘A’ and ‘B’ in the following equation.
3 _51_5l
A B 63
(1) A=28 B=42 (2 A=22 B=46
3) A=42 B=28 4) A=32 B=44

52. WA YL IRATAI 13 ST THT IR T sed TR, o G NST1 I 1 INUR Wiedle

36 | 64 | 81

49 1100 | 2

121 | 144 | 169
(1) 16 2 9
(3) 225 (4) 196

In the following question 8 of the 9 cells are filled according to some rule. Find the
missing number from the four alternatives given below.

36 | 64 | 81

49 | 100 | ?

121 | 144 | 169
(1) 16 2) 9
(3) 225 (4) 196

53. JETSAT TG Tk &1 Qe ISR 5 o1 IR, T o1 Tt fohelt ge7 MRt 2
(1) 8 2 9
(3) 10 4 11
In a row of trees, one tree is fifth from either end of the row. How many trees are
there in the row ?
1) 8 ) 9
(3) 10 4) 11

HoedT HIATATS! SR /SPACE FOR ROUGH WORK
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54. Giefie TFHE) IgSTT Higd) TaAedT w ey MR T Famer=an Sefl wivwr o1 A5
wEmd faer
16 1 | 9
2549 , 3625 , 81@100
121 49 16
(1) 256 (2) 225
(3) 676 (4) 324
Observe the given number relation around the circle and find out the number in
the place of the question mark.
16 1 9
2549 , 3625 , 81@100
121 49 16
(1) 256 ©2) 225
(3) 676 (4) 324
55. SR @H fiaw Moam Iq STd T IV e fead e feasf 3de 2
(1) TeEm (2) gEar
(3) THAR (4) TeaR
If independence day falls on Sunday, the coming Republic Day will fall on
(1) Sunday (2) Wednesday
(3) Friday (4) Thursday
56. Rmiea wa smadi Teie e givem e sidl. at = IsaT g v feRien ufew 2

(1) ufe=m (2) o

3) @ (4) IW®

While doing Shirsasan, Swapnil’s back faced west. In which direction would his
right hand be ?

(1) West (2) South
(3) East (4) North

HTSIT HIHTETST STRTT/SPACE FOR ROUGH WORK

P.T.O.
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57. R qroaTdier iamt it fode o vy e,

LNS

(1) TN2 2 Lue

(3) THU=2 (4) 2Uur

Find the correct water image from the alternatives.
LNS

(1) TN2 (2) Lye

(3) TU= (4) 2urn

58. e WY Uftemen 30 HWied ATerd e, Ta IS he g O 30 HiH Nell. *IHal & S
F&I A 20 HieH e, §e1 SEfhe ded dt 30 HicH Nell. at = eardi=an SIrarg fondt svater

IR 2
(1) 20 #ied @) 30 Hed
(3) 50 Hicd (4) ITEh! AT

A man walks 30 metres towards west. Then, turning to his right, he walks
30 metres. Then, turning to his left, he walks 20 metres. Again, he turns to his left
and walks 30 metres. How far is he from his initial position ?

(1) 20 metres (2) 30 metres

(3) 50 metres (4) None of these

59. IS aWEE Aefid S @ Y & 1R 37 AW fafeen el @ vag gE e v ?

() R @ T
3) S 4 Y
Ifletters from S to Y are written in reverse order, which is second last letter ?
1 R @ T
3) S 4 Y
60. TUHT 3 feaEH® g R, fhramgen oan o, | evHa 39 fewisriemn fkad
IO ?
(1) @maER @) TEr
(3) TEAR (4) TIHER

Two days after today is Christmas. Christmas falls on Sunday. What was the day
two days before today ?

(1) Monday (2) Sunday
(3) Thursday (4) Saturday

HESAT RIATATS AWT/SPACE FOR ROUGH WORK
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61. mwmmmmﬁwmwmmm ST B g
SR A, Treht & Ao ISR Set TR, Wit € T geasrt 37w, qX ST Hivn

IR TG TR 2
(1) weh (2) gt
(3) 3™ (4) M

Five girls are sitting in a row. Rashi is not adjacent to Sulekha or Abha. Anuradha
is not adjacent to Sulekha. Rashi is adjacent to Monika. Monika is at the middle in
the row. Then, Anuradha is adjacent to whom out of the following ?

(1) Rashi (2) Sulekha
(3) Abha (4) Monika
62. T WIVETEN IRET HEA a1 ot Tt Fonedt, ol aedt € e afeci=h e v gerft ame.”
1 JE St A FR 2
(1) wdl Q) WS
(3) @& (4) IRt A

Introducing a man, a woman said, "His wife is the only daughter of my father."
How is that man related to the woman ?

(1) Husband (2) Brother
(3) Father-in-law (4) None of these

63. gy Trgrean feemoft Jomy aTeRet |

27 19|15

22 | 4] 12

51?213
1 5 2 6
(3 3 4 2
Find the number in place of question mark.

27 |9 | 15

22 | 4 |12

51?21 3
(1) 5 (2) 6
3) 3 4 2

HeedT HITTETS AFT/SPACE FOR ROUGH WORK
P.T.O.
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64. Tedte vl A st g STepeaET $H Ul R,

0|0 o)
EEECRERY
o s @
3 +o & @ |~

Complete the following series of figures by selecting appropriate option.

ST [Tk

W = @ —
® Blm @ |

65. UHIHIehide YNd ‘dom pul ta’ YN ‘bring hot food’, ‘pul tir sop’ TN ‘food is good’, and
‘tak da sop’ means ‘good bright bay’, @ & ¥Na ‘hot’ wa fafeet sda 2
(1) dom (2) put
(3) ta (4) Saar a9 e

In a certain code language, ‘dom pul ta’ means ‘bring hot food’, ‘pul tir sop’ means
‘food is good’, and ‘tak da sop’ means ‘good bright bay’. Which of the following does
mean ‘hot’ in that language ?

(1) dom (2) put

3) ta (4) cannot be determined

66. T gorm areft 6 ol A s v arerar @ et 2 fot QTR W R = e A9 o @

vt FUE AT Rl 2
(1) wrefi 8 ferefl (2) arf 3 foret
(3) ot 4 T (4) ah 5 fret

A boy walks from his home to school at 6 kmph. He walks back at a speed of
2 kmph. His average speed is

(1) 8 kmph (2) 3kmph
(3) 4kmph (49) 5kmph
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67. STPOT, TEA, PET, PEN R 75 274, 431, 234, 235 31 Rt S @il @€ TAPE 1 318

FamveRR e ade 2
(1) 4123 (2) 2471
(3) 4234 (4) 4231

The words POT, TEA, PET, PEN are written as 274, 431, 234, 235 respt. How will
the word TAPE be written ?

(1) 4123 2) 2471
(3) 4234 (4) 4231

68. 4 THh W3 T 7%&@@1@ 1 et avam STdfivias S| Steredt JEvd

e THT R 3@ 2
(1) 4% (2) 4.33%
(3) 4.5% (4) 4.66%

One litre of water is evaporated from 7 litres of sea water containing 4% salt. The
% of salt in the remaining of solution is

(1) 4% @) 4.33%
(3) 4.5% (4) 4.66%

69. Tiefiel HEATHA qui Foamardt 9 v faer,

5,9, 17, 29, 45,

1) 60 ©2) 65

(3) 68 (4) 70

Complete the following number series by selecting appropriate option.
5,9, 17, 29, 45,

(1) 60 @) 65

(3) 68 @) 70

70. TS ST O I9AT ATed. W TSHAT G el @1 Jaia Je Te. TSH Tger=an 7T e, 0] &=
AT S71R, TTo EAT A AT 7 T i e e e 2
(1) TH 2)
(3) Tgd (4)
Five friends are standing in a row, Ravi is not ahead of Rajan. Rekha is in the
front. Rajan is behind Rahul. Renu is behind Ravi. Rajan is not behind Renu.
Who is at the end of the line ?
(1) Rajan (2) Ravi
(3) Rahul (4) Renu

HTeAT HIHTETS! WRTT/SPACE FOR ROUGH WORK
P.T.O.
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71. TG T SHUM S STS[E el
(a) =D : HE
(b) TR : qE
() ®=h : FIA
(d) #eER : S|
(1) (a) 2) (b)
3) © (4) (d)
Choose the odd pair of words.
(a) Chandragupta : Maurya
(b) Babar : Mughal
(¢) Kanishka : Kushan
(d) Mahavira : Jainism

1) (@) 2) (b)
3) © CYRCY
72, T 91 3 Tl AT Sraere SR G SISl e U1 e ofrR. € weTehelt whrgd fot 1 @
e 79 38 TR hl, Hard Uhd F19] Tl UTH TTfreft oTTe. 378 fanelt Siened avareliet 2
1) 4 2 6
@) 1 @) 9

A 3 cm cube has been painted red on all its sides. It is cut into one cm cubes. How
many cubes will be there with only one side red ?

1 4 (2) 6
3) 1 @ 9

73. TETd 7 SHUIRT Y168 T,
(a) TS
(b) gI=
(c) Tofrfid
(d) HAe!
1) (@ ) )
(3) (o) 4) @)
Choose the odd one out.
(a) Niger
(b) Suez
(c) Mississippi
(d) Colorado
1 @ 2) (b)
3) © (4) )

HEST HHTETH FFT/SPACE FOR ROUGH WORK
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74. WA T 81 R AFaiat nuid IR, Wiefid Jemed fededr @ Temed SEum gag
HICIEN RIS I C I REC A

M @ (4 0)

® () @ (o)

Following question is based on the following diagrams. Choose the diagram that
illustrates the relationship among three given classes described in the following
guestion.

Male, Female, Girls.

M @ (4 0)

® () @ (o)

75. BDF:HIL::MOQ:?

(1) XVT (2) TVX
(3) VTX (4) TUX
BDF :HIL:: MOQ:?

(1) XVT 2 TVX
3) VTX 4) TUX

76. TH MEME 50 HiEST, 45 AT, 8 I AT FE! TRET ARA. K TS AT TR
SrFTIETT 224 U ST STfier TR A TRt 2
(1) 5 2) 8
(3) 10 4 15
In a caravan in addition to 50 hens there are 45 goats and 8 camels with some

keepers. If the total number of feet be 224 more than the number of heads in the

caravan, the number of keepers are
1) 5 2) 8
3) 10 4) 15

HoedT RIATETS! “HT/SPACE FOR ROUGH WORK
P.T.O.
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77. I WG fagA w9 qul .

%m:aﬁuﬁa@a__
(1) vFafism : oo (2) qOHIe™ : 9Rd
(3) HEIfeH ; gt (4) @ Ieaftd ; W

Select the correct option to complete the sequence.

Hitler : Germany,

(1) Shakespeare : England (2) Tulsidas : India

(3) Mussolini : Italy (4) Boris Yeltsin : Russia

78. Wi FRTHE 73 W STHOT IRE fool oTd T 16 o T fafime fFremmgan s foed
T 3TTRd. e Fremgan e s g 9 w=ig e,

81 | 25 | 729

9 | ?|125

512 |64 | 8
@ 3 Q) 4
3 5 (4) 6

Following question there is a square having nine cells. Eight of the cells have
been filled in with numbers by using certain rule. Find the correct alternative to
fill in the empty cell by the same rule.

81 |25 | 729

9 | ? 125

512 |64 | 8
D 3 2) 4
3) 5 4) 6

79. 1R 1989 a1 feasf witam gt W 1975 =1 ST SHIvEAT IR B ?

(1) Toam (2) YFaR

(3) WER (4) ¥R

Ifit was a Saturday on 15* April 1989, what would have been the day on Children’s
Day of the year 1975 ?

(1) Sunday (2) Friday

(3) Saturday (4) Monday

HTeAT HIHTATS FAT/SPACE FOR ROUGH WORK
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80. @t faar.

qs - 1o IR o L= AP
(37)

(&) Sar

(%) e

(z) sfeem

1 () 2) (3)
3 (&) @ @)
Select the best alternative.

Man : Biography : : Nation : ?

(a) Leader

(b) People
(c) Geography
(d) History

@ @ | 2 (a

3 © @ ()
81. <. T. Hl. T TS Gieliel aATe! aTaie Sd

(1) fefvreer gaferer g

2) fefesade guiera wde

(3) TITA RS FgIel

(4) ST AR hae

The abbreviation DNC is used to denote
(1) Digital Numerical Control

(2) Distributed Numerical Control

(3) Dual Numerical Control

(4) Dynamic Numerical Control

82. TETET IV UETATET TSR STHATE TG BIVIAT I I A ATH Biee
(1) TwEdd g e (2) THHGR d UTel
(3) FLET (4) wre 1T WrEda
A hot body will radiate heat most rapidly if its surface is
(1) Rough and white (2) Polished and white
(3) Grey (4) Black and rough -

HoedT HIHTETS! ART/SPACE FOR ROUGH WORK
P.T.O.



BMW 26 A
83. HWA ULE feamsA (Fe) I v Arfeef=n Wmmwmm ? .

(1) . . T, 2) 9. g .

(3) ¥, Ml 3. W, (4) w. d. 3 .

Following is the data exchange standard in Computer Aided Design (CAD)
(1) GIF (2) PDF

3) IGES (4) MPEG

84. TegEIE AR THTET aTR & WTATAIeh! FHaedT Tl TRTiat JTed FehR AT

AS Thd ?
1) wTEes wa 2) fiae
(3) HRL IARH (4) w9

Which is the most suitable work material that can be machined by ultrasonic
machining ?
(1) Mild steel ‘ (2) Brass

(3) Castiron (4) Glass

85. FHE AR B VR Teieh! Faedl ST AToard ?
1) T A
(2) TR JemyA
(3) WrmmHEe HHIH
(4) T frmde famTE
Transfer machines are employed under the application of
(1) Hard Automation
(2) Soft Automation
(3) Programmable automation

(4) Low cost automation

oAl HHTETS! ATTT/SPACE FOR ROUGH WORK
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86. T AT AT T FEVR 7 WEE Fr e S ?
(1) oHa FeFdield
(2) AffsH arRE T Tored
(3) 7 ferrdier sie Sfemic
(4) FE
A carbon monoxide analyser works on the principle of
(1) Thermal conductivity
(2) Paramagnetic properties of O,
(3) Non-dispersive infra-red absorption

(4) Expansion

87. TRUTNG G- TRHAT goid edd WK ZEE= 81 Uk die 37l
(1) TTEA BB STHAHT STHHTEHRIE HHARI
(2) aTEA AT SFAAT SFFHTHTE HHIR]
(3) aTeA gesfvamandt ST S i
(4) TUTAT FHAAIGR FHIR ThS
The disadvantage of radial ply tyre compared to cross-ply tyre is
(1) Uncomfortable ride at low speeds
(2) Uncomfortable ride at high speeds
(3) Higher cornering power

(4) Lower rolling resistance

88. JTE UEEA THTE BIS 14 ITE1E] aTuaTd ARG TA0N WA SRl ATt 3784,

(1) =i 38 @) @ 3

(3) g S (4) kT S|

Most anti-skid devices are employed on

(1) Rear brakes (2) Frontbrakes
(3) Secondary brakes (4) Parking brakes

HoedT HIHTHTS! ARTT/SPACE FOR ROUGH WORK
P.T.O.
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89. ‘uide g uide ~puferet Shaie’ A1 T ATR HivTe AR el Shell Sl ?
(1) fefem e
(2) TEfET weiA
(3) fafer mefi
(4) ahY A
The machine tool in which point-to-point numerical control system is applied is
the
(1) Drilling machine
(2) Grinding machine
(3) Milling machine
(4) None of the above

90. TR AANE I UaTT S Focial 39 ATF FrRfer o7 wehd Tl
(1) < qaEFa (2) I TEHA
(3) HAIE TR (4) AT TEHA
No engine can be more efficient than the engine working on
(1) Diesel cycle (2) Dual cycle
(3) Carnot cycle (4) Ottocycle

91. TR Sherqtiell WalxT LT THISHE TeTef=l STaeel Wiefleiieh! shivldl 31Hd 2
(1) =t T AR
(2) VT e A1
(3) H1 qTET= B
(4) ST ST S
Refrigerant enters the condenser of a mechanical refrigeration system as a
(1) Low pressure gas
(2) High pressure gas
(3) Low pressure liquid

(4) High pressure liquid

HET HHTATE! ART/SPACE FOR ROUGH WORK
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92.. T YARPTH T TV S Tiel IEE SR T Feie! STeae! T Wrete
FRT 3G Ihdl
(1) UEHETAT ITAAOTRT Se ST 3TmaT
(2) T GE AT S 107 STTAT ST
(3) TSR ¢ T dT o) TTE S
(4) AT Ul AR AT

An electric motor driving a centrifugal air fan is found to be running hot. The

most lively cause is

(1) Slack driving belts

(2) Fan starting load is too heavy
(3) Heavy deposits of dust or/and oil
(4) Bent fan blades

93. =N E wH W] T THiR JuneHeEd SHauET A=A SUSHTE

TEUIdTd.
(1) T ied (2) e IS
(3) o uTsH (4) "B
The device located in the exhaust system to reduce the exhaust noise is called the
(1) Exhaust valve (2) Exhaust pipe
(3) Tail pipe (49) Muffler
94. IMYHF FEAH LA T YOI 7.
(1) 1:197f14:1
2) 4:13Mn2:1

(3) 12: 13T 24:1

(4) 24:13mfT148: 1

The steering in the case of modern automobiles varies between
(1) 1:1and4:1

(2) 4:1and2:1

(3) 12:1and24:1

(4 24:1and 48:1

ThHoed| HTHATATE! ATT/SPACE FOR ROUGH WORK
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95. Term fom=ht e Ty amfor 3 Y = wefie AT TEUTATd.
(1) 2 3t @) T = ofma
(3) HET AT (4) e A

The angle between the vertical line and the centre line of the king pinis known as

(1) Toe angle (2) King pin angle
(3) Caster angle (4) Camber angle
96. TTEHE Ferer MUl IuFM T R,

(1) emfiemofiea I8 I wevE

(2) IS MG T8 STadr a1 ]I

(3) 3fSmarEn freum wffy eoaRun SrRigeda Weieaar are v
(4) IS 9 HH) Ha1 AEn TR

The primary purpose of the clutch in automobiles is to

(1) Actlive a brake in case of emergency
(2) Give high speed to the road wheel
(3) Take up the drive smoothly

(4) Decelerate the engine

97. U SUATET ATRA o BT Wt Ietteh! I Teeh AR ?
(1) T
(2) HThIT sty
(3) ST et
(4) FEFHA
Octane number of SI engine fuel is a measure of
(1) Purity
(2) Knock resistivity
(3) Pollution level
(4) Efficiency

eI RIHTETS! SIRTT/SPACE FOR ROUGH WORK
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98. TRRF TVRM reral ST WielieTush! HaTd AgwTal HIEGT S0 ?
(1) 3 w8 =T o= gla
(2) IS B
(3) Tormcfia ==t
(4) Jeuit wtwamE |
Most important advantage offered by Direct Injection (DI) diesel engine is
(1) Easy cold starting
(2) Light weight
(3) Low cost
(4) Easy assembly

99. I 319 TTEATY AL T T, A, INFHIST HIv 357 ST JAVT Fai(ereh Higal

AR ?
(1) IR 1 fedm @) feisget Rdm
(3) i & fTdm (4) Tl g =y

Most suitable fuel supply system for C.I. engines having electronic engine

management is

(1) Unit pump system (2) Distributor system

(3) Common rail system (4) Assembly line system

100. RATS off TH-2 TEET PRI TOEfigar aeTaR HiecdT SIT=T e FHiaaTsed] SRRiiasied
I TS 3T ehd.
1) 2.2%
(2) 320 9. 91, w.
(3) 2.27m/fF. .
(4) 100 Hr.d1.wA.
As per the BS—-II emission norms in India, the allowable carbon monoxide level is
1) 22%
(2) 320 ppm
3) 2.2 gm/km
(4) 100 ppm

HoedT HIHTETS! SRTT/SPACE FOR ROUGH WORK
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(8) wwgfeahned fafed sheten fAfite S wea M (T 9eh ) w0, Ty ek fftaa sTafichat
1 SR FICTER Fod HH hedTq o Hid] FHOITHT IeIMH Fed AR, 378 THA STedd g ATTIR
SUEITER ITEAH STRI hetet *‘wliefmed g TR fdes svarameas Afufmm-82”
T el TIEITER FRATS 0T I3 F QST ot STl Ueh SNT=AT ShIaTar=a 7fv1 / foha &9
U BTN ThET ST 181G Ui eigd.

(9) T TSR ERE IR [IfEd dholell 9o HueaHal IHSARIAT € TR T e
TOHTHETETRY B S WA TR, AT THEAT HATIR ATOTYE | IHEARTA IATIeAT
ITATIHET WRT — 1 GUAerETehe 7 foretdT Wa i) ITayge® ST,

HAT WA
WA %, 201. G 91T T8 FOIMIET vl TEd: WA ol 7
(1) @ gae T (2) $vaEs formmamR
(3) TSI UHHIRA U (4) MITSF TEA

T YT 0 IW () TS THHTE T T8 TR, e A1 T IW C(3) ) TR
ITEqd WIATATHT0 9. %, 201 TR0 ST-Fah Q) ® dges U0 SRIifehd HEd
TR0 TETF R,

3%.20. @O @ @ @
3T U1 TG T fErehelicl Tedish J¥AT=I e ITGRATH 81 JRaTell Saadie JUdeiedt

ITUGhaE &1 I FHHHHHIR I Gaidd ages Uit Sifchd & SRaaTal. gTehNat
Thek STl TSR STeTdq IR, Afel a1 ige 9 araes 9.

oA HTATATS! AT/ SPACE FOR ROUGH WORK



